Mol X ()
TEEFE - ARG Z
1 % A G
29 H R 4% 98 7H P 29 2k R IERE TR
AR H R 44 9H 6H RER | HELBEAAL] B2 Wi
Bl H R £ A H i F A
A R 44 9A3O0H
BT BB
E 1E FISRLEE | 2l BISHLEE | Sl AISHLEE | %
1| ¥ AR T 1, 808, 000 AL
207 2a—REY F UMW 1, 844, 000
3| BRI M AP 1, 856, 000
4| = IL AR S 1, 920, 000
5| B &5 1, 980, 000
6|1 AT 2 2, 000, 000
(E[AITER 2,023, 120
8|7 7 el T3 2, 024, 000
9 | R TT A B 2, 040, 000
10 [ARAT T2EHR ARZN
L1 |#E AR BN
12|74 &0 BRI T 2E0R ARZN
13
14
15

(B 5 1TAR 2 VBBl O T T B B D% A & T e)




o2 B ()
TEERE  ALITREHE
CE AR Y70k
229 H R 4% 94 7H P Ed oS ZRIERE 7E
AFLH R 4% 9A 68 IR FRABAARL | HARZRK Wi
Biin H R £ A H 7 oa FOA
A R £ A H
BT RRBRTHRET
* 7 4 1A FISFLEE | 28] A ISFLEE | SETAISHLEE | 5
1| B AR 2, 548, 586 AL
2|7 & R L 2, 567, 678
3|~ PR 2,579, 253
4| =& A 2, 584, 027
5 | () i A X 35 A 2,617,338
6| 7R B Y R A 2,696,013
NI LT N 2, 807, 069
8| &M CA 2,975,519
9 |R)gm A 14 3 3, 029, 502
10|77 R 3, 046, 374
1|{=—2F 3,771, 167
12| 7 & /37 4 — LEIRIER FRTREIR
13| LSRR FRIRER
14|15 H e (6 AZN
15

(B 5 1TAR 2 VBBl O T T B B D% A & T e)




M3 X ()
TEEFE - ARG Z
W 5 XTI
29 H R 4% 98 7H P 29 2k R IERE TR
AR H R 44 9H 6H TR | RABEA AL HLERK Wi
Bl H R £ A H ## i F A
A R £ A H
TSI BRI
E 1E FISRLEE | 2l BISHLEE | Sl AISHLEE | %

1| )ERA 19 ST 3,090, 589 AL

2| &S 3,102, 714

3|V F A 3,111, 630

4| B APE 3, 115, 600

5|REE U A 3,118, 061

6|~ TR A 3,119, 080

U RZBN RPN 3,139,512

8|l 7 & R 2 3, 184, 220

97 o & Y% 3, 221, 902

10

11

12

13

14

15

(B 5 1TAR 2 VBBl O T T B B D% A & T e)




Mot B (7)
TEEFE - ARG Z
% NI > 52—
29 H R 4% 98 7H P 29 2k R IERE TR
AFLH R 4% 9H 6H RS fRABA AL HAHERK i
Bl H R £ A H ## i F A
A R £ A H
BT KRBT
E 1A FISFLEE | 28] A ISFLEE | SETAISHLEE | 5

Bz AN 6, 068, 805 VAL

2|7 & /3 6,075, 581

3| B Uk A 6, 085, 726

4| IR ¥ S 6, 108, 241

5|~ F~pggh) 6, 109, 137

6|7 =4 SCH 6,114, 152

dEY NSS! 6, 168, 004

8|HZ A 6, 170, 850

97 o & Y% 6, 536, 251

10

11

12

13

14

15

(B 5 1TAR 2 VBBl O T T B B D% A & T e)




Mob X ()
TEEFE - ARG Z
rE % A
29 H R 4% 98 7H P 29 2k R IERE TR
AR H R 44 9H 6H TR | RABEA AL HLERK Wi
Bl H R £ A H ## i F A
A R £ A H
TSI BRI
E 1E FISRLEE | 2l BISHLEE | Sl AISHLEE | %

1B 7 &R 4 1, 155, 359 AL

2|V =4 A 1, 155, 378

3|~ pE ) 1, 160, 524

4| B APE 1, 166, 950

5|REE U A 1, 168, 633

6|1 T LT YL 1,191, 037

dEY NSS! 1, 194, 669

8l ~7 & BV R A 1, 251, 995

9| BIEHA 14 SC 1, 266, 898

10

11

12

13

14

15

(B 5 1TAR 2 VBBl O T T B B D% A & T e)




Mo6 X ()
TEEFE - ARG Z
% FIEAHY
29 H R 4% 98 7H P 29 2k R IERE TR
AFLH R 4% 9H 6H RS fRABA AL HAHERK i
Bl H R £ A H ## i F A
A R £ A H
TSI BRI
E 1A FISFLEE | 28] A ISFLEE | SETAISHLEE | 5

1| &2 A 4,133, 546 VEHL

2|BEIEHA 1] S 4,137, 442

3BT LT TN 4,151, 701

4|~ TP ) 4,157, 111

5|7 =& A 4,166, 045

6| Z AR 4,167, 440

T\H) 7 2 8P A 4,193, 660

8l ~7 & BV R A 4,231,720

IR TR AWM HiH

10

11

12

13

14

15

(B 5 1TAR 2 VBBl O T T B B D% A & T e)




M7 X ()
TEEFE - ARG Z
& EBFa—2M
29 H R 4% 98 7H P 29 2k R IERE TR
AR H R 44 9H 6H TR | RABEA AL HLERK Wi
Bl H R £ A H ## i F A
A R £ A H
TSI BRI
E 1E FISRLEE | 2l BISHLEE | Sl AISHLEE | %

1|~ F P (H) 5,451, 558 AL

2|07 & R 2 5, 452, 025

3BT LT TN 5,452,510

4y = A 5, 486, 847

5|HIZEA 5,529,519

6|FREE Bk AR 5,532, 225

7 |(RIEH A 1) S 5,624, 389

8| &S 5, 660, 644

97 o & Y% 5,927, 037

10

11

12

13

14

15

(B 5 1TAR 2 VBBl O T T B B D% A & T e)




M8 B ()
TEERE  ALITREHE
% NFDHEZ)  ERHHHE S
R H R 44 9H13H P Ed oS ZRIERE 7E
AFLH R 4% 94 9H Mirk B = | fe4mi P AL Al Wi
Biin H R £ A H 7 oa FOA
A R 54 1HS3O0H
BT BRKBRHSL\F O B R/NER
* 7 4 1A FISFLEE | 28] A ISFLEE | SETAISHLEE | 5
77 Fa—RL—ya v 5, 150, 000 VAL
2| K= ~—7F% 5, 280, 000
3|MIREA SRS 5, 486, 000
4{BR R Y bt 5,510, 000
5| H BLpE 2 6, 930, 000
bl —— Lt 2 — AR
7| =35 RBIN
8
9
10
11
12
13
14
15

(B 5 1TAR 2 VBBl O T T B B D% A & T e)




M9 B ()
TEERE  ALITREHE
CNE AR -]
R H R 44 9H12H P Ed oS ZRIERE 7E
AFLH R 4% 9H 9H IR FRABAARL | HARZRK Wi
Biin H R £ A H 7 oa FOA
A R £ A H
JETTE P RRBRTRET
* 7 4 1A FISFLEE | 28] A ISFLEE | SETAISHLEE | 5
1| 0BRSS 2, 888,575 AL
2|72 —REUF UMW 3, 140, 271
3|77 el TR 3, 168, 138
4| BRA(T FH EE R 3,508, 543
S5|(B)A A7 7 7 FATFIR
6| U3 AR AL 2 AR
7|7 &0 BRI T EE ARBN
8
9
10
11
12
13
14
15

(B 5 1TAR 2 VBBl O T T B B D% A & T e)




Mo.10 R (7)
TEERE  ALITREHE
AR s, =
R H R 44 9H12H P Ed oS ZRIERE 7E
AFLH R 4% 9H 9H IR FRABAARL | HARZRK Wi
Biin H R £ A H 7 oa FOA
A R £ A H
BT RRBRTHRET
* 7 4 1A FISFLEE | 28] A ISFLEE | SETAISHLEE | 5
1| =R 6, 585, 570 AL
2|{ER R4 7,551,928
3| B AE T R AR R 7, 685, 887
4|~ ePH AZN
5| (h)P i TB
6|(H)H 1144 AZN
;=T % ARBN
8| = & AZN
9
10
11
12
13
14
15

(B 5 1TAR 2 VBBl O T T B B D% A & T e)




M1l R (7)
TEERE  ALITREHE
1B b Ly hN—N—
R H R 44 9H12H P Ed oS ZRIERE 7E
AFLH R 4% 9H 9H IR FRABAARL | HARZRK Wi
Biin H R £ A H 7 oa FOA
A R £ A H
BT RRBRTHRET
* 7 4 1A FISFLEE | 28] A ISFLEE | SETAISHLEE | 5
1| =R 6, 805, 500 AL
2|{ER R4 7,489, 100
3| B AE T R AR R 7,535, 750
4|~ ePH AZN
5| (h)P i TB
6|(H)H 1144 AZN
;=T % ARBN
8| = & AZN
9
10
11
12
13
14
15

(B 5 1TAR 2 VBBl O T T B B D% A & T e)




M.12 R (7)
TEEFE - ARG Z
W #Ho BT A (IHELER 2 X) Vg2 pF—
29 H R 4% 9A12H P 29 2k R IERE TR
AR H R 44 9H 9H TR | RABEA AL HLERK Wi
Bl H R £ A H ## i F A
A R £ A H
TSI BRI
E 1E FISRLEE | 2l BISHLEE | Sl AISHLEE | %
T 4 =2 4, 396, 106 VAL
20T v 71 4, 590, 266
3|7 8T A 4,611, 300
4| IR ¥ S 5, 177, 600
5|~ T pgEH 6,002, 780
6|1 T LT YL 6, 264, 896
N7 xR A ARB
8
9
10
11
12
13
14
15

(B 5 1TAR 2 VBBl O T T B B D% A & T e)




M.13 R (7)
TEERE  ALITREHE
fE % 2 E— K P X f X =0 ()
X9 H R 44 9H13H PrE iR Ed oS ZRIERE 7E
AFLH R 4% 9H12H IR FRABAARL | HARZRK Il
Biin H R £ A H ## i F A
A R £ A H
JETTE P RRBRTRET
E 1A FISFLEE | 28] A ISFLEE | SETAISHLEE | 5
1|7 > A 9, 034, 104 AL
2|BRZFn 10, 225, 824
3|A 7Y 10, 539, 410
4= A F - = R BEEHIR 10, 605, 326
5|t TG HIR 11, 210, 592
6 | (R B T4 Sl
7
8
9
10
11
12
13
14
15

(B 5 1TAR 2 VBBl O T T B B D% A & T e)




No.14 A (7))
% =
EEEE - AL REHZE
1 R
K9 H R 4%# 9H13H Va-4: 4 2L 7 TR RE 5
AFLH R 4% 9A12H IR LA AL HAGERK Wi
Bl H R =2 A H i FH E
W R £ A H
JETTH T RRBRT&ET
E 1E] HISILEE | 28] AW | SIEHISILEE | %
1 [ ALEARZE R 5,119, 268 PERL
AR NEE=- ¢ ) 5, 607, 590
S|P 5, 765, 920
4| H P S 5, 818, 690
5|=—2 7 HETRER
6|7 Z X7 — AFIRIER HHTRAR
IINECT 4 —1TFT 4 7 REN
8|l KAMI X@# ARBN
9K H AR (R ARBN
0| — - F 4 — - > — R
BHLETANVLEDRAL ) N—= g s
11 S ARBN
12
13
14
15

(B 5 1TAR 2 VBBl O T T B B D% A & T e)




Mo15 B (7))
% =
EEEE - AL REHZE
K9 H R 44 9H13H e 2L 7 TR RE 5
AFLH R 44 9H12H BRI a4 ANFL | BAmERK Wi
Bl H R £ A H # g F H
A R £ A 5]
JETTH T RRBRT&ET
¥ ZF % 1E] HISILEE | 28] AW | SIEHISILEE | %
1 [ ALEARZE R 63, 858, 175 PERL
2|7 Z 37 3 — LEIRIER 64, 229, 152
|=—2 64, 908, 811
4| 66, 227, 646
5| i HH s k9 67,941, 280
6INECT7 4 —1NTF 4 71 il
7| R A [ ok ARBN
8|l KAMI X@# AN
9|k B A B () ARBN
10| — « F 4 — « — el
BHLET7ANVLEDRAL ) "= g =5
N ISR B
12
13
14
15

(B 5 1TAR 2 VBBl O T T B B D% A & T e)




No.16 A (7))

TEEFE ARG E

1F 4 B B Y

R H R 44 9H26H PTE R R 2 R TERE S
AHLH R 4% 9H22H MR | fRABA AL R Wi
Dl F R # A A 9o # A

A R 5% 1H3O0H

ETTHAr  RRBR LRI ES/NERR

E 1A FISFLEE | 28] A ISFLEE | SETAISHLEE | 5
HKR= > F—pga 4,978, 000 AL
ol 7 7 Fa—Rr—a 5, 230, 000
3| A Bl 5, 370, 000
49X KU HhAft 5,491, 000
5|0 A B2 FRIEE
bl —— Lt 2 — AR
T =75 KRB
8
9
10
11
12
13
14
15

(B 5 1TAR 2 VBBl O T T B B D% A & T e)




Mo17 £ (77)
TEERE  ALITREHE
W X7 L REES
229 H R 4% 9H26H PrE iR Ed oS ZRIERE 7E
AFLH R 4% 9H22H FRAREIR [ FRABAAL|  Rm5RK Wi
Biin H R £ A H 7 oa FOA
A R 4%#11H30H
JETTS P RRBRLE/NER
* 7 4 1] FISFLER | 2l AW | ST | 5
1| T 3, 035, 560 AL
2| (B 7 U E T 3, 245, 000
3| B AT BB R 3, 245, 000
HETT v 71 3, 300, 000
5| =FnlE 3, 300, 000
6|~ 1t 3, 300, 000
|7 2 % BN 3,575, 000
8|7 A A — FRTREIR
9| KB o A () FrRTEEIR
10| % = =2 —(f§ AR
1|7~ FHTEHE
12 [JE# RBM
13| A C E %R AZNN
14| T 2748 (0 il
16| =F U EHEER KRB
16| B ALPEZERN 5l
17|MA S U I #a&axfitasin RBN

(B 5 AR 2 TR Bl M O T T B Bl DA & )




M.18 R (7)
TEEFE - ARG Z
W # o P R A=)
29 H R 44 9H28H P 29 2k R IERE TR
AFLH R 44 9A27H ATEREALR | FEABEA AL Bl i
Bl H R £ A H ## i F A
A R £ A H
TSI BRI
¥ #F % 1E FISRLEE | 2l BISHLEE | Sl AISHLEE | %

1B 7 &R 4 822, 780 VAL
2T 1+ =RV xS 824, 670

W= AT v I 994, 500

HHT BTN 1, 149, 492

5|~ pH ) 1,204, 470

6| ()M A 1# SC 5L AR
N7 xR A ARBN
8

9

10

11

12

13

14

15

(B 5 1TAR 2 VBBl O T T B B D% A & T e)




